MIA M FDADE MIAMI-DADE COUNTY, FLORIDA
I METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305) 375-2901  FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA)

Aluminum World, Inc.
1767 W. 37" Street, Unit #18
Hialeah, Florida 33012

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: “Storm Guard” 0.063” Aluminum Storm Panels Shutter

APPROVAL DOCUMENT: Drawing No. 02-576, titled “ Storm Panel — Storm Guard ”, sheets 1 through 7 of 7,
prepared by Tilteco, Inc., dated December 12, 2002, last revision #1 dated December 12, 2002 bearing the Miami-
Dade County Product Control Revision stamp with the Notice of Acceptance number and expiration date by the
Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 01-1029.03 and consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E.

NOA No 03-0206.07
Expiration Date: 11/16/2003
Approval Date: 04/03/2003
Page 1




GENERAL NOTES:

’ 2.230" 1. STORM PANEL SHOWN ON THIS PRODUCT APPROVAL DOCUMENT HAS BEEN DESIGNED IN ACCORDANCE WITH THE 2001 EDITION
—1.180" 4.820" 1.1B0" 4.820" 1.180" [ QF THE FLORIDA BUILDING CODE.
: > t + 180 —_ DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1619 OF THE ABOVE MENTIONED CODE, FOR A BASIC WIND SPZED
| N QF 146 m,p.h., AND IN ACCORDANCE W/ ASCE 7-98 STANDARD.
’ —{ =094 . STORM PANEL'S ADEQUACY FOR {MPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1606.1.4 OF
8 094
1=.083" . I THE ABOVE MENTIONED CODE AS PER PA—201, PA-202 & PA-203 STANGARD.
-§ Alum. PANEL § ! ) 2. ALL ALUMINUM SHEET METAL PANELS SHALL BE 5052-H32 ALLOY,
T i
b J § 3. ALL ALUMINUM EXTRUSIONS SHALL BE 60B3—T8 ALLOY UNLESS OTHERWISE NOTED.
- g 4. ALL SCREWS TO BE STANLESS STEEL 304 OR 316 SERIES SERIES W/50 ks YIELD POINT AND S0 ksi TENSILE STRENGTH OR
062" a CORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018.
‘ 8. BOLTS TO BE 2024-T4 ALUMINUM ALLOY, GALVANIZED OR STAINLESS STEEL, WITH 38 ksi MINIMUM YIELD POINT.
2.000"
. 6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)
12.000° (EFFECTIVE WIDTH) | P -1 (A) TO EXISTING POURED CONCRETE:
’ ~1/4" 8 TAPCON ANCHORS, AS MANUFACTURED BY LT.W. BUILDEX GR ELCO TEXTRON.
15.500" (TOTAL WIDTH) @)~/ l——2.000" ~1/4" 8 x 7/8" STAR TAMPIN ANCHORS OR CALK~IN, AS MANUFAGTURED BY STAR EXPANSION & POWERS
FULL R. :@sﬁrgnm. INC. RESPECTIVELY.
@ HEADER A1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO CONCRETE SHALL BE 1 3/4".
2.230" PANEL A2) 7/B" TAMPIN ANCHORS OR CALK—IN SHALL BE ENTIRELY EMBEDOED INTO THE POURED CONCRETE.
. "~ 8083-T5 Alum. ALLOY NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED.
094” 7 r-““ =5 Alum. 1/4" 9-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST.
I —1 | —004* A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL QR
[— FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE
— ’.-.125‘ — R SHALL BE ! 3/4" MINIMUM FOR ANCHORS MENTIONED IN A.1), & 7/8" FOR ANCHORS MENTIONED iN A.2).
1/4" 8 S. S STUD (B) TO EXISTING CONCRETE BLOCK WALL:
. A ] -— — 1/4" @ TAPCON ANCHORS, AS MANUFACTURED BY LT.W. BUILDEX OR ELCO TEXTRON.
RVETED TO ANGLE )
§_ © SPACINGS SHOWN .750 5~ I'MT-+HH . ~ 1/4" ® x 7/B* STAR TAMPIN ANCHORS OR CALK—IN AS MANUFACTURED BY STAR EXPANSION & POWERS
o  ON SECTIONS. . " il oo ' 000" FASTENING, INC. RESPECTIVELY.
. 3£ o T 30 |‘ ’] NOTES: i
g _m__ 2 mob i v @ B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS, INTO THE CONCRETE BLOCK UNIT SHALL BE 1 1/4",
] - . | - — { -3 B8.2) 7/8" TAMPIN OR CALK—IN ANCHORS SHALL BE ENTERILY EMBEDDED INTO THE CONCRETE BLOCK UNIT.
+ _ o SeE q 083" =] |=m 18 GAGE pe NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED.
DETAL 1 - Typ. 8 1/4" #-20 SCREWS USED SHALL BE 1 1/2° LONG MINIMUM SHOULD STUCCD EXIST, AND 1 MINIMUM FOR
/ ‘ | B < WALLS WITH NO STUCCO.
(3 2,000" —t B.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS
FULL R. t [ 1875" SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEMIND SUCH PANELS. ANCHORAGE SHALL BE 1 1/4"
@ HEADER 2.000" —] l—ge3* MINIMUM FOR ANCHORS MENTIONED IN B.1). & 7/8° FOR ANCHORS MENTIONED IN B.2).
B083-TB Alum. ALOY - 128 STEEL TUBE (C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SFECIFICATIONS OF THE ANCHOR'S
' @ BASE ANGLE REINFORCEMENT  Matiricriees.
8063~T5 Alum, ALLOY DETAIL 1: STUD W/ WING NUT ASTM A-525 w/ (g) ANCHORAGE TO WOOD FRAME BUILDINGS NOT COVERED ON THIS DRAWING SHALL BE ENGINEERED (D) ON A JOB BY JOB
7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 2, 2A, 3, 8 & B6A
3" CONCRETE ANCHORS (SEE SCHEOULE) 3" (SHEET 2 & 3 OF 7).
[ \ A
n. \ 1 Min, 8. EACH PANEL SHALL HAVE A LEGIBLE AND READILY VISIBLE MARKING INSTRUCTING OWNER OR TENANT TO SECURE PANELS WITH
o \ N ° o e APPLICABLE REINFORCEMENT DURING PERIODS OF HURRICANE WARNING,
T T |7 'T\‘Q T TI AT T AT T AT T1 1T T 8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO
\ . BE ATTACHED TO INSURE PROPER ANCHORAGE.
| T i . 10. (A) THIS PRODUCT APPROVAL DOCUMENT (P.AD.) PREPARED AY THIS ENGINEER IS GENERIC ANO DGES NOT FROVIDE
& 117 n § INFORMATION FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.AD.
[} ]
<«
b Ar '\\ A A I . L= ~ (B) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND
A 4 i ] INSTALLATION OF THIS PRODUCT BASED ON THIS PRODUCT APPROVAL PROVIDED
N ~ I Tel — - " HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETALED ON THIS DOCUMENT.
T TUT REQU":E; LI | 1 ) (C) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.
! <. ! N
— N\ 7 JONLY AT CASES SHOWN g . (d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY
[ led &I TTR ™ ?;'HE'EP Do g‘,EC,T;“S 2 T2 A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH
\ 5 gﬁggu}&u c:s Eagogpm J \\ b2 WILL. BECOME THE PROFESSIONAL OF RECORD (P.O.R.) FOR
HOWN L THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE
7" ON APPLICABLE SECTION: -t — - @ STUD PLATE @ ALUMINUM STRAP  rroPer USE OF THE PAD. PROFESSIONAL OF RECORD, PRODUCT REVISED
(SHEET 2 & 3 OF 7) ‘ o ] ACTING AS DELEGATED ENGINEER TO THE P.A.D. ENGINEER, as complying with the Florida
! N T T SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS Buiding Code
g h N\ N, ‘ ) FOR REVIEW. Acceptance No 03-020 §. 07
X P
;\, M N M 3 (8) THIS PAD. SHALL BEAR THE DATE AND ORIGINAL SEAL Expiration Date
V v v . AND SIGNATURE OF THE PROFESSIONAL ENGINEER THAT
& PREPARED IT. gy
00 AN A S A VU N A A IR NN N I | I T tami Dad€Frodu
f Py @ Py & J ’ C o M PO N E NTS 1. SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED AT BOTTOM OF EACH PANEL Division ot Contro}
! LABEL SHALL READ AS FOLLOWS:
\ ALUMINUM WORLD, INC.
, HIALEAH, FLORIDA
|yl CONCRETE ANCHORS (SEE SCHEDULE) | MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED. F.B.C.(H.V.H.Z.)/MIAMI~DADE COUNTY
Max. Max.
b1 ) 1M
STORM PANEL TYPICAL ELEVATION CORPORATE SEAL * STORM PANEL-"STORM GUARD SCALE
SEE SHEET 3 OF 7 FOR REINFORCING DETALS W/ (B) orR (7). 12/12/02
. IL E c o INC ALUMINUM WORLD, INC. DATE
/ N\ /IN\ / \ 7“5& e - TILLIT TESTING & ENGINEERING CO}:4PANY 17574 WE'AH37 A saoia 02-576
g = N/ \ ——— | w4 A —— M . N;JTA;E%EFE{:D?HIS?F;.&QLSGDS /0 8505 N.W. 38th. St, Sta. 217, VIRGINIA GARDENS, Fl. 13188 Hi + FLORIDA 33012
- Phane : (305)871—1530 . Fax : (305)871—1531 - prerp— — DRAWING No
SECTION A—A RAISED CORPORATE. SEAL £8-0006719 S NN T (27
- WALTER A. TILLT Jr., P. E. : - - =
vl ,d// o FLORIDA Ljc. 44167 2 = - r - = SHEET ' OF 7
7 ¢




POURED
CONCRETE

OR CONCRETE
BLOCK WALL
REQUIRED

CONCRETE
ICHO
" (SEE SCHEDULE)

/‘/

1 L—..’)OO'

Max.

\\\\\T\\

A
A

ov

l

|

|

! A
T \%g
|

(SEE SCHEDULE)

FOR Min.

SEPARATION TO

f
Il EXISTING GLASS
!
[

]
77N

PQURED /

CONCRETE

OR CONCRETE
BLOCK WALL
REQUIRED

ANNNN

|
|
i
]
|
i
|
|
|
I
i
|
%'

b s

Cont,

S

Max. PANEL SPAN (SEE SCHEDULE)

/

CONCRETE
ANCHORS
(SEE SCHEDULE)

N fw

SECTION @ ANCHOR

Y A, A/
| (SEE SCHEDULE) i
FOR Min. | |
| sepARATION To
| EXISTING GLASS 3
X
} g
\ W
(7]
f / — =
N &
/ < A 7/8" x s/sz'g
| WING NUT @ 2
s Eetily
REgu:;EvllJALL / //: T
L b ]
|
A g8
Cont ’
SECTION @ STUD
I A
— SECTION 1

NOTE: DETAIL OF SECTION @ STUD VALID ALSO FOR

WALL MOUNTING [NSTALLATION - SECTION 2

CONCREFE

N

Cont.

(SEE SCHEDULE)—\

POURED
CONCRETE

OR CONCRETE
BLOCK WALL

REQUIRED —\

DONNRN

T
a

LLLL

A

U/i!//

.250
Max

&

W

I
I
[
!
|
T 4%
I

| (SEE_SCHEDULE)

| FOR win.
| SEPARATION TO
| EXISTING GLASS
I
!

|
TR

o’

CONCRETE

OR CONCRETE
BLOCK WALL
REQUIRED

AN

4

o

Max. PANEL SPAN (SEE SCHEDULE)

—

CONCRETE —/

ANCHORS
(SEE SCHEDULE)

N\ N

— SECTION 2

—4 250"
Max.

Cont.

E. D. = EDG

ON

(SEE SCHEDULE

E DISTANCE
SHEET 7 OF 7)

N
N S
N ! Jy
POURED = :\ L 23
CONCRETE
Al NN
REQUIRED — N\ !——-@
\ ]
AN
\\\\ AN
l i A
1 A A Yy
T AS Aa 2
| | 5
| | @
| Lo i
| Coook-m
l__( TIET Z
SEE SCHEDULE ! &
70 EXISTING GLASS I g
| ! g
| Ll
| l
TR Tty 5o w/
/] AN
/ . 12° o.c.
[=}
e /]
soor |/ —
REQUIRED d=— Z ; § 3
—— | 3
)y ===
CONCRETE !
ANCHORS /
(SEE SCHEDULE) o
Do
SECTION & ANCHOR
—t A
| (SEE SCHEDULE) § | J;
I sspmn’ga' 0 4
| EXISTING GLASS 3
{ g
Yooe o :
) : )
/| i @ H
/ a /]| . .2
v /] b w2
POURED CONCRETE ! stup ©
meowe | b, LjeRee g
REQUIRED / /"{/: T
1
b ! |
L/ S
9%
/ b Cont gz

SECTION @ STUD

WALL MOUNTING INSTALLATION

— SECTION 2A

CONCRETE

,—\
T
m
m
73
a
X
m
=]
c
—
o

N
N
N
::513 :
POURED B! gl ;
OR CONCRETE AN "
REQUIRED — s\ b
Ny N| T e
N | il
DONNRN |32 Sk,
T I
I

T A
! (SEE SCHEDULE)

FOR Min.
SEPARATION TO
EXISTING GLASS

:

3}
-F

. PANEL SPAN (SEE SCHEDULE

Ad

YOI Y
1 14' -20 x
-1 [ ‘1" y B_’OL‘BT§
Ui
kT y : 3/32‘/ WING
OR CONCRETE NUT ©
BLOCK WALL it 12° o.c
REQUIRED -
t-_'.".._
o —/ ®
H
(SEE SCHEDULE) Cort

= SECT

CONCRETE ANCHORS

(SEE SCHEDULE)

POURED CONCRETE
REQUIRED

LS

vy
\\\\\\\\I =
!
f Cont.
| i
] |
|
]
L
A

. ¥ ’ It
i ! %
| i
: Cont. E "'@ g

Q@ 24" OC. 1 w
|
| By ST
. A —— AL eveRy sTUD 2
| A, I Y @ 12" 0.C. &
x | / g‘
! | ! &
! 9 247 0. C. ! i
J i 3
|
I

'Y

v

7/8" x 3/32"

A,

SEE SCHEDUI
FOR Min. SEPARATION
TQ EXISTING GLASS

\'4 WING NUT ©
EVERY STUD
p—i— @ 12" 0.C.

|
|
: Ocm.

//////////fl/////
R 2"
REQUIRED (SEE SCHEDUL?
£ D.
— SECTION 4
PRODUCT REVISED
as complying with the Florida
Buiding Code
Acceptance No ©3-0206.07
Expiration Date X {

F.B.C.(H.V.H.Z.)/MIAMI-DADE COUNTY

Division

STORM PANEL-"STORM GUARD”

/TiLlEco m \

TILLIT TESTING & ENGINEERING COMPANY
6595 N.W, 38th. St., Ste, 217, VIRGINIA GARDENS, Fi, 33188

Phone : (305)871-1830 . Fox : (305)871~1531

EB~0006719
WALTER A, TILLIT Jr, P. E.

SCALE
12/12/02
ALUMINUM WORLD, INC. DATE
T ALEAS, FLORIDA 33012 02-576
REY. N0 DESCRIPTION OATE | REV, Na DESCRIPTION DATE DRAWING No
1 oD ai—281  |12/12/02 - HEET 2 OF 7

FLORIDA Lic, 44167

— 4




2 "x3° OR 2°x4° OR

2 “x5"x1/8" Alum.
e ANGLE (808376 ALLOY)
CONCRETE ANCHORS \_ | - CALK—IN OR CALK-IN OR
(SEE SCHEDULE) Q 60 bR i SR T Ao\ Tue icrors |
9 8" 0.C .C. .C.
N R 2@ O\ [ TF e\ Tz
; — = N ! !
= “Q N OR CONCRETE —_f—— R OR CONCRETE ng L , IL ,
POURED BLOCK WALL ‘\ i BLOCK WALL \ i !
CONCRETE \ REQUIRED ] j REQUIRED ! ’(SEE SCHEDULE)
REQURED N _\ \ g { _\ § 5 | FOR Win, '
| SEPARATION TO
w i t
\ AN ! ' \ i 7/8° x 3/32° WING NUT ?manG GLASS
AN ! ! } G EVERY STUD OR ; Top
\\\\ \\ \ j \ i M. B. @ 12° O.C. —_ ‘—-—@ . W/ 72° Moax. W/ Mox. 1/8° TLE
N | J I SPAN FINISH MATERIAL &
1 SNOUONVRNN | \\\ AN I ———@ | 3/4” PLYWOOD.
‘ . g | Q | g EXsTING — !
| ) 1/4° #-20 (SEE SCHEDULE) | " ! : | GLASS i Cont.
A A THRU BOLT W/ P | ‘ A - 3 ]
A A 7/8°%3/32" FOR Min, i . A —A g i
WING NUT © | séparation T0 | | ' (SEE SCHEDULE) | | 3 |
o o —] e | SRS B (o= swiun] : | ,
n. M
I 10 EXISTING GLASS ! L < I ' 5"‘_ ,§2§m"1‘m 0 E a = ' ——
: % ; =i £ ! ! z | EXISTING G 72 b = 7 ?
g :\, A, 8 T r G
| | : T g | | : \ |
: | i I g I | l In] ) A ! A, o e
! ‘ 3 ! I ! 2 “ 4 E - it
l A A, : < | i ! < ; | ! o ’ \
; ) i . . : ‘
' v '\'E [ 7m0z 3 ! "‘@ $ | | 3 i N New 154" OR 24" P .
! : e Nt < f | ' 1420 ; TN HaoD Block BivEEN
SN S : R SN SN S S THRY BOLT W/ 5 3 o .
:/— I 7/8"%3/32 . 3 -
o 1/4° THRU BOLT W/ NUT
7 | 3 A0 ? N R Vi
g 4 J 2 ] [ -~ o N
POURED -/ W /] Cont, i I | < / ! / " N .
CONCRETE f = | R 2" x 5° x .125% Alum. ANGLE
OR_CONCRETE /1= e POURED /| pounen - .__@ S BETWEEN COUNTER TOP STIFFENERS
BLOCK WALL / v HF | CONCRETE / I (Min. 8 LONG) OR Cont.
REQUIRED eSO L—r'[—-—-r'mn — OR CONCRETE == ﬁ_ . } GR <0 concm:n-: :: e,
1/4° #-20 S.S. MACHINE REQUIRED _{3 REQUReD 73 -
/ BOLT W/ NUT & WASHER CALK-IN OR __/ / - CALK-IN O i POURED CONCRETE / o CONCRETE ANCHOR @ 6" O.C.
/ 9 8 0c TAMPIN ANCHORS / TAMPIN mcuons OR C.B.S. REQUIRED - H
(SEE_ SCHEDULE) - 23" OR 2°x4" OR 012" oC. o 12° oc | .

YV

lNSlAI“I“Elz AI EAss lHBu wlungws : VALID FOR MAXIMUM SHTTER

HEIGHT = 8 ft. AND MAXIMUM

2"%5"%1/8" Alum.
ANGLE (8083-T8 ALLOY)

(DIRECT MOUNT) — SECTION 6 il

48 POP JACKNUT

12.000°

PRODUCT REVISED

as complying with the Florida
Bniding Code

Acceptance No_ 03-0206 .07

0¥

>
5
)

/“(f

1/4" 3-20 x 4'—/ E.D =

EDGE DISTANCE

(SEE SCHEDULE Expiration Date

;:L:T;w‘:‘ RE‘:'O:S‘L‘N;‘W @ MIDSPAN ON SHEET 7 OF 7)
— - PANEL REINFORCING DETAIL W M

Division

1/4° #-20 x 3/4°
BOLTS W/ WING NUT ©

’////////%///////

WASHER @ LAP JOINTS @ 24" O.C,
12.000"
\ _ F.B.C.(H.V.H.Z.)/MIAMI-DADE COUNTY
/ | \ 2 STORM PANEL—"STORM GUARD” soas
C) \—@ Nl 12/12/02
/ 'IL lE c o INe \ ALUMINUM WORLD, INC. DATE
< A~ TILLIT TESTING & ENGINEERING COMPANY 17%&;@ 7,.—55?55 é’:&:z'a 02-576
PANEL REINFORCING DETAIL w M 95 N.W. 3Bth, St, Ste. 217, VIRGINIA GARDENS, F1. 33168

. Phone : (305)87&;538“?;5 (305)871—1531 —e = T pro——— e DRAWING No
/ V/’;'/% <~ M Driba e, 44tsr - n - - —] SHEET 3 oF 7




CONCRETE ANCHORS

N et

(SEE_ SCHEDULE)
POURED CONCRETE \ POURED CONCRETE § i
BLOCK WALL £ D Y N CONCRETE 8LOCK WALL NJERES 8
REQUIRED T\ M \ . i \ REQUIRED NS
AR \ 1.000 +.000" 1.000 \ \ N
NSO NN | §/5°~°f oF BxisTNG . N
T \ |'>,1-] / POURED CONCRETE N
I ] 4,500 @ END CUT PANEL 4 /_ CONCRETE BLOCK WALL N
; > e = ;& 3
i ’ ~ 2 AR
| i i 4 CONCRETE ANCHORS
: \ - % o 12° o.C.
: e /.
I i ,_,@ §L_ " N (2)3/8"% ™HRU 2kl Eé £ A N
: AN . N s W/ WASHER 3108-+14 OR 5083-T8 ALLOY ; 3
t. m. ANGLE »
| ! | 4 N 2904 or 2w6%1/8" o s 3 ®/ -
l 3 N HORIZONTAL TUBE MULLION v :
I ! &% I | (6083-T6 ALLOY) (7.7 e bt =
! - . 4.000" \
] i ] 1.000" ) 1.000" NN 2°x2"x1/4"x0" 8"
A —A z Aum. ANGLE (6063-T6 ALLOY) 1/4% BOLT 4"x4"x,093"
T v ¥ . 1o & oo RS ki R o
I 4 3/8% KWIK BOLT ANCHOR W 8 Gace o
= soemas) yespr, 2, T e o o SR s
| FOR Min. ! WING N
SEPARATION T0 | | —EVERY STUD CASE A (Plan) CASE B (Plan)
:EXISTING GLASS HORIZONTAL TUBE MULLION
24" OR
! b 2werje
| | H(;RIZBN/TAL Alum. N T
| TUBE MULLION
: | (6083-T8 ALLOY) POURED CONCRETE
. ' I ! 4 oR N\ .
5 | I ] ©oN3 CONCRETE BLOCK WALL N\
& | Cant. 1 | REQUIRED 2.500" Min.~N
£ ) CONCRETE ANCHORS l__ 2.500™
2w : I' 012 ac. ——~__ n.-Q
E" : FOR SPLIT PANEL INSTALLATION
- |
3§ I . 8
= S x o~ P
S I ‘}‘g ‘ 1.000
] | 7 } MAXIMUM TOTAL MOUNTING HEIGHT "H"
| DESIGN -
| / LOAD o , . N , 2"%2"x.055" TO ALTERNATE LEG LOCATION
I W (p.sf)| € 19°-07 [10°<C H 12'[12°¢ H <14' | 14'< H <18 2"x5". 055" Cont.
Lpre x 3ya° P s om ™ . e foag: 9'1‘35—;3%4 SHEET
:o 8" 0.C. 40 7-7 7-2 6'-10 6'-86 2°x4” TUBE METAL Alum. BENT PLATE
I '—'@ Cont. 10'—5. 10-_1- 91_7- 91_2- znxsu TUBE
|
I 4 7= 6'-8" 6'—4" 6'-0"
| —() : 50 CASE _C (Plan)
| "d 9'—11" 9'~4" 8'-11" g'-g"
)| A A
, A v z 6'-8" -3 5'-11" 5'-g" MULLION TUBE
: 60
: ' ! 3 g'—4" g'-10" 8'-4" 8'-0" /_l///////////////////, END CLOSURES DETAILS
! § . . . am . e ) n /] / :
i 7/8%3/32° g4 5'-11 5'-8 5'-5 4 ?r’@ & PRODUCT REVISED
| WING NUT & 70 y T d as complyiag with the Flozida
| |— EVERY STUD 8'-10" 8'—4" 7'-11" 7-7" A 4 Z Buiding Code
| ,/ - = £ * Acceptance No. 03 -0206.07
| i : . §'~0" 5'-g8" 5'—5" 5'~2" 5 Expiration Date [[71L /7003
LN oo HIEE a2 80 - oo - - / 4 (1) Z By
|<:)——————~ L - - - - g T ¥ _; LS -
| y ; g M_laml Dade®roduct Control
S — ———] . am . e Divisi
S S S S AN AN S S S S 90 5-10 5-6 5'-2 5'-0 / 3 ision
I |\" / - . T - TTTITITT IOV 7
POURED CONCRETE 1 \~ CONCRETE 8'-2 7'-8 7'-4 7'-0 o S
OR CONCRETE [ ANCHORS - ‘ PAN
gEngREVBNJ- i (SEE SCHEDULE MEASURED TO CENTER LINE OF ANGLES F.B.C.(H.V.H.Z.)/MIAMI~DADE COUNTY
V]
£. D ;
JYPICAL SPLIT PANEL STORM PANEL—"STORM GUARD” SCALE
SPLIT PANEL MOUNTING INSTALLATION £ D. = EDGE DISTANCE | B INSTALLATION ELEVATION 12/12/02
T DATE
(SEE SCHEDULE : IIL'E cO ALUMINUM WORLD, INC.
— SECTION 7 ON SHEET 7 OF 7) W/ MULLION TUBE IN¢. 1767 W. 37 STREET UN: 18
D =S |, TG e oy e o 357 02-576
NOTE : FLOOR & CEILING MOUNT INSTALLATIONS SHOWN. ' e o L KA A DRAWING N
FOR CIFFERENT MOUNTING INSTALLATIONS 'SEE R Phane S e o7 A ) Wn::;m L ST e o
L SECTIONS ON S & 3 OF 7. . - WALTER A, TILLIT Jr., P. E. ! - b -
/V//% FLORIDA Lic, 44167 2 = - T = =] SHEET 4 OF 7
, L4




e

N

AN

1/4#x3"° LONG

LAG SCREWS @ §° O.C.

W 1 27/32" Min. PENETRATION
TO EXISTING WOOD HEADER.

SONSNONNNNNNN

d

}_’___

WOO0D HEADER
REQUIRED

(SEE SCHEDULE)
FOR Min. SEPARATION
TO EXISTING GLASS

Cont,

ALTERNATIVE 1

(SEE SCHEDULE)
FOR Min. SEPARATION
TO EXISTING GLASS

AT

£Q

l\l

I 7/8%3/32"
WING NUT @ EVERY

/I/sma o 12° 0.C
34§
I

N
x
»
N
=

AN MR
:
8

L=
S
<

M ~\———1/4'lx.!' LAG SCREWS

1

4) cont

@ 8°0C W/ 1 27/32"
Min. PENETRATION
@ MIDWOTH OF PLATE.

10

1/4"#x3° LONG
LAG SCREWS @ 6° O.C.
W 1 27/32° Min. PENETRATION

INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS

EXISTING WOOD HEADER.

Cont.

1/4° ® MACHINE BOLT W/
NUT & WASHER © 8° O.C.

SANNNANNNNXX

SOOONINNRNNXXEXXX

%

NOTE FOR _COMBINATION OF SECTIONS:

WALL MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.

1.

2,

J.

NOTES:

INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS UP TO +60.0,
~76.0 p.s.f. ANO PANEL'S LENGTHS UP TO 8°-10"

NEW 2° x 6" P. T. TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH
19 X M. M. C. W/ SPECIFIC DENSITY OF 0.55.

FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

AN NN

14

woop sTuUD
0 24" d.C.
REQUIRED

\/\

" ’ K B 141 /8" (MINIMUM)

ALTERNATIVE 4

ARN i

NEW P. T. 2° x 4" (Min.) Cont.
W/ 1/4°8x5° LONG LAG
SCREWS © 8° 0.C.

AR

1°%2°%1,/8% (Min.) Alum.
TUBE W/ 1/4 8x4" LONG
LAG SCREWS © 8° 0.C. W/

A0

Cont.

! - 506375 Alum. TUBE (Cont.)

AND W/

(2)1/4"4x4" LAG SCREWS @
FACH STUD (MIDWIDTH OF STUD)

2" Min, PENETRATION

INTO EXISTING STUD.

ALTERNATIVE 5

WALL MOUNTING INSTA

| 7/8"#x3/32" WING NUT
0 EVERY STUD @ 12*° 0.C
STAGGERED TO f14 SM.S.

[ T

(2) 1/4"9x5" LAG SCREWS

O FACH STUD (MIDWIDTH OF STLD,

2% Min. NOMINAL) AND W/ 2° Min.
PENETRATION INTO EXISTING STUD.

7o SECTIONS

ALTERNATIVE 6

A

L L
L 4
, T by ¢ i B EE™ ] § i e
- m M . .
= / /8 1
i cont 1\ /d =1 33 1\
T ' | - ]
= I~ g : R /] ) i ot
L d Y | | 4 5 |
WOOD HEADER REQUIRED »@ / _ I 5 / _ E
o gy V] g domdi=— 1 | Al iy 5~H®
Min, i i L woop HEADER b
%1 1/2" LAG f g REGURED | ! REQUIRED 5
T o.c. i e ] i
== —® ey e G e |
. . |
L ;o TR A .
n§ .:E g —4= 1/4"9x1 1/2° LAG /\/ 1 F14x3/4" S.5. ,\I
il | 2 SCREWS © 8° O.C. SMS. @ 67 0C.
B T (ST |
- ' shen] 1) i ¢ il
g STUD @ 12° 0.C. L/ § | L/ § § |
STAGGERED TO 1/4°8 ; : .
i /l, LAG SCREW / ) l / " S
/ [ & H
wooD _sTup 5 : §§ -: / ] 7/8°8x3/32" : ; /L 6o
@ s ' l d - = s A‘”Zz;- ?/g: /] =i SHoe 12 oL
' % T /1 - 1 ity /1 5 1 | Smceene
: Ny 1 1. tAG scrRews . SMS
- ——H Cont. L/ 0 2400 i /] Q% /] 0. 2400 - 1 /] R g
: / REGUIRED : 38 REQUIRED 2
. \ W\ mewe 1274 67 cont. /] '/\ P 1 /\ ) |
A : T W/(2) 1/49x5" LAG SCREWS >
. g O, EACH STUD (MIDWOTH OF sTuo, | /] — / . —3
{ 3 2" Min. NOMINAL) AND W/ 2 Min. , Y - E
A TIV, 1 PENETRATION INTO EXISTING STUD. / — =8 o / ] ot
§ :
/ - / £ 17x4%1/8" (Min.)
y A L/ /! 3 606375 Alum. TUBE (Cont.)
14x3/4" S.S. .
sMls."e’s" o A NEW P. T. 2° x 6" Cont. W/ A § (2) 1/4°8x4" LAG SCREWS

O EACH STUD (MIDWIOTH OF STUD,
2" Min. NOMINAL) AND W/ 2° Min.
PENETRATION INTO EXISTING STUD.

PRODUCT REVISED

as complying with the Florids
Buiding Code

Acceptance NoO3- 020 6.0 7

/TiLlEco w:. \

TILLIT TESTING & ENGINEERING COMPANY
Hﬂb&ﬁ N.W. J6th, St., Ste. 217, VIRGINIA GARDENS, Fl. JJ188
Phona : (305)871—1530 . Fax : (305)871-1531

EB-0006719
WALTER A. TILUT Jr., P. E.

By
Miami Dade
Divisicn
F.B.C.(H.V.H.Z.)/MIAMI~DADE COUNTY
STORM PANEL—"STORM GUARD” |  sous
12/12/02
ALUMINUM WORLD, INC. DATE
T EN, FLORIDA 33012 02-576
REV, MO DESCRIFTION DATE ] REV. No DESCRIFTION DATE DRAWING No
- A0 oo uwm - ~ —— SHEET 5 OF 7

FLORIDA Lic. 44167




WOQD TRUSSES OR RAFTER

-

1/4"#x3" LONG LAG SCREWS
& 57 0.C W/ 1 27/32° Min.

SOSNANNNKN

L

fone

n
L
B T
N 5‘0
e |
™ { ,
~T"WOOD HEADER
- REQUIRED

- (SEE SCHEDULE) —
FOR Min, SEPARATION

—d
—h—

TO EXISTING GLASS

PENETRATION TO EXISTING
WOOD HEADER.

2%3" OR 2%4" OR 2%x5%1/8" Alum.
ANGLE. (6063-T6 ALLOY)

1/4°8 MACHINE BOLT W/

NUT & WASHER O 6" O.C.
.-

E

]
3 ) cont.

—®

1/4°8x1 1/2° LAG
SCREWS @ 6" O.C.

<t

—@

7/8" # x 3/32°
WNG NUT O EVERY

Max. PANEL SPAN { SEE NOTES)

/] b
% 3
“ b
“
% 3
/ D.S D M
;O%R%:.
4 1/\ I8
/

A 1% Min,

) ﬁ:&a' Min.}—
. : 1/4°8-20 S.5. 8OLTS ©

“ 0.C. W/ NUT & WASHER

3" OR 2%4" OR 2°%5%1/8°
Alum. ANGLE. (6083-T8 ALLOY)

NEW P. T, 2° x 8° Cont. W/(2) 1/4°0x5"

LAG SCREWS @ EACH STUD

OF STUD, 2" Min. NOMINAL) AND W/ 2"

Min. PENETRATION INTO EXISTING STUD.

o
F14x3/4" S5,
S.MS. @ 8" 0.C. 7/8%8x3/32° WING
[1__1_] P / UT @ EVERY STUD
T @ 12° o.C.
; ] § // Cont.
% ' 34
L/ = T L i
V| wooo sp ||| T
10 24~ oc. M. 790" (112 win.
A [EYRED ) L_ 1/4°6-20 S.5. BOLTS O
% : £ 0.C. W/NUT & WASHER
% . M 2"%3" OR 24" OR 2'%5%1,/8"
g ] ,,_5?0- Alurn, ANGLE. (6063~T8 ALLOY)
) *4°%1,/8° (Min.
% : N atum. e Gabis s ALLOY)
(2) 1/4"8x4” LAG SCREWS. @ FACH
h STUD (MIDWIDTH OF STUD) AND W/ 2™
Min. PENETRATION INTO EXISTING STUD.
ALTERNATIVE 2
WALL MOUNT. INSTALIAT. (OFFSET.
— SECTION B
NQIES:

1. INSTALLATIONS ARE ONLY VALID FOR DESIGN WIND LOADS AND PANEL'S
SPANS AS SCHEDULEN SHOWN ON SHEET 7 OF 7.

2. NEW 2" x 6" P. T. TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH
19 X M. M. C. W/ SPECIFIC DENSITY OF 0.55.

J. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

WOO0D TRUSSES OR RAFTER

0 24" 0.C. REQUIRED

WOOD TRUSSES OR RAFTER
© 24" 0.C. REQUIRED

O 24° 0.C. REQUIRED

L < >
7,250 Win= [—1.250" Wi, <
< = nd 7777 - VAV
1= Min, 1" Min. /'i\ VAV OIS
- —— | | NEW 27 x 6" P/. T.)Cont. 7ok 21, /8" i,
oyn .oy o WOOD PLATE W/ (2, &
NEW 2°x4" OR 2°%57%1,/8" Cont. = 5/16"#x6" LAG SCREWS TO L‘}“é) Tg)/,g.";‘.mlfc
Alum. ANGLE (2) 3/16°8x3" LAG FACH RAFTER OR TRUSS. %
50° SCRENS DO ACH RAFTER O — X 250 =\ LOCATE SCREW AT MIOWIOTH N eyt JOIST.
14001 1/2°—4——A 32 T ATE TN s 1/4%ex1 1/2° ] 4 [ 8 OF DasTING wooD MEMBER MOWOTH OF EUSTING
LAG SCREWS uewmsmm @ wummm,m SCREWS © 4" O.C. § (2 MiN. NOMINAL WDTH) WOOD WEMBER (2° Min.
@ 5° O0C WOTH) W/ 2° Min. PEN TON. l&‘ W/ 2° Min. PENETRATION. NOMINAL WIOTH) W/ 2*
- - a1 — A
:j;.. — Cont. ] y A Cant.
— :> Cont. [ (SeE SCHEDULE)—] T z (:) on — (sex screpue)—J V] @
FOR MinSEPARATION 2 FOR Min. SEPARATION
) TO EXISTING GLASS /__‘/@ TO EXISTING GLASS _{1)
! : A @ 7/8°3/32°
% ~A wﬂ/a ~u4 o
g ——— STUD @ 12" O.C.
AT V 2 § 2. x GL_WODU LA . .
7/8ax3/32" 5 S 3 DECK REQUIRE! A S5
ey every 3 N3 (NO_FINISH ALLGWED) T¥ 27 x 6° wooo oeck
STUD @ 12* 0.C. — - REQUIRED
, (NO FINISH ALLOWED)
—~3/8%5/8" LONG
e P> BRASS BUSHING W/
T - - T 1/4%8x1 1/2" S.M.S.
LONG BRASS —
— %gf-;;%aw/ 1/4"8x1 1/2* Tw” 0 6" ocC
55. SMS. @ 8” O.C. ™ -
* NOTE : FOR INSTALLATION THAT NEED NOT TD BE REMOVABLE, # NOTE : FOR INSTALLATION THAT NEED NOT TO 5E REMOVABLE,
USE 1/4"x1 1/2° LAC SCREWS @ 8" O.C. USE 1/4"8x1 1/2" LAG SCREWS © 8" O.C.
A ALTERNATIVE 2 ALTERNATIVE 3
%5/8° LONG 1/479x3" LONG LAG
4 Mms/&'am sénsws ® 8° 0.C. W,
/1 W 1 27/32* Min. PENETRATION
1/4°8-20x2° S.S. TO EXISTING 'b'moo HEADER
/] SCREW @ 8° O.C.
9 1/478-20x1"
L] A 1S W/ 7/8%3/32" CEIL & 7 1
7 WING NUT @
V| % 12* 0.C. —
4 R ay — SECTION €
[/ @ A
/] \@ Cont.
WOOD HEADER WOOD HEADER \@
e Ao INSTALLATION DETAILS ON
A A .J; 4,
— A — A
v v
D EXISTING WOOD BUILDINGS
1 - .
\-@ _1.__’—].'. : § 1/4° #-20 x 1" W
pal | SERTE <1 goLTs W/ 7/8" x 3/32° \=S
g g WG WUT O /7 e
&l V1 . g . ! PRODUCT REVISED
‘ \ Y < \_' @ MOWIDTH OF PLATE ‘W‘OOD‘ STUD \@ Cont. asco!nplymg with the Florids
4 zogg_srolip N\ 3/8%5/8" LONG BRASS /| @ 24 ac. Buiding Code 3-0206-07
/| REQUIRED /55 . - || REQUIRED O MIDWIDTH OF PLATE Acceptance No O3 - 06~
QU BUSHING W/ 1/4"8~20x2 it Expiration Date o2
L/ 5.5. SCREW @ 6 0.C. TO /] : ;_é; x3” LONG LAG v p
NG WOGD P ; .C.
" A ExisTh LATE. “ f g 1 172 Min. PENETRATION By
70 EXISTING WOOD PLATE: Miami Dade/Product Control
”:”: !'2!,“£ '“ET”: 1E’2” ””:: "EIHZ ”'ET': 7.'2” Division
F.B.C.(H.V.H.Z.)/MIAMI—-DADE COUNTY
— SECTION D — SECTION E - -
STORM PANEL—"STORM GUARD SCALE
NOTE;
D T L w @ 12/12/02
BUT USING 1/4 #-20x2 1/2° NOTE FOR COMBINATION OF SECTIONS: / l"_ lE CO nc \ ALUMINUM WORLD, INC. DATE
5.5 SCREW © &7 OC. W/ INc. 1767 W. 37 STREET UNIT: 18
38 #x5/8" LONG BRASS FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN 8E TILLIT TESTING & ENGINEERING COMPANY HIALEAH, FLORIDA 33012 02-576
BUSHING COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. 8595 NW. 36th. St, Ste. 217, VIRGINIA GARDENS, FI. 33188 ’
: (305)&751_5(:?%66?: ¢ (305)871-1531 = e e —— — DRAWING No
WALTER A. TILUT Jr., P. E. : OLD 01-281 Wiz | 3 - -
FLORIDA Lic, 44167 2 = - T - —i SHEET & OF 7




MAXIMUM DESIGN PRESSURE RATING "W” (p.s.f.) AND

CORRESPONDING MAXIMUM SPAN "L"” SCHEDULE

MAXIMUM DESIGN LOAD Max. PANEL SPAN MINIMUM SEPARATION AZE%%BNLSE ;o
W (p.s.f.) L (ft.) TO GLASS (SEE SHEET 2 & 3 OF 7)
+58.0, —76.0 8'-10 1/4" 2 11/18" 1
+72.0, -72.0 8'-g” 21/2" 2
+57.2, -75.7 12'-0" 2 3/4" 2A
+52.0, -56.0 8'~10 1/8" 2 7/8" 3
+50.0, -72.0 7'-7 1/2" 2" 4
+72.0, =72.0 8'-g" 2 1/2° 5
+58.0, ~76.0 5'—-10" 2 7/8" 6
+72.0, =72.0 8'-3" 2 1/2" 6A

b

MAXIMUM DESIGN PRESSURE RATING "W" (p.s.f.) AND CORRESPONDING MAXIMUM ANCHOR

SPACING SCHEDULE FOR

INSTALLATIONS INTO CONCRETE AND C.B.S. STRUCTURES *

MAXIMUM ANCHORS SPACING **
MAXIMUM DESIGN LOAD APPLICABLE TO
W (p.af) TAPCONS TAMPINS / RAWL CALK—IN SECTIONS #
TO CONCRETE | TO MASONRY TO CONCRETE | TO MASONRY

+58.0, —76.0 6 0. C 6" 0. C. 6" 0. C 6" 0. C. 1
+72.0, -72.0 6" 0. C 6" 0. C 6° 0. C §" 0. C 2
+57.2, ~75.7 6° 0. C 6" 0. C. 6" 0. C 6" 0. C. 2A
+52.0, ~56.0 6" 0. C 6" 0. C 6" 0. C 6" 0. C 3
+50.0, —72.0 12° 0. C - 12" 0. C - 4
+72.0, -72.0 6" 0. C 6" 0. C 6" 0. C 6" 0. C 5
+58.0, -76.0 - - 12" »en 12% wan 8
+72.0, -72.0 - - 127 wee 12% wee 6A

SEE SHEET 5 & 6 OF 7 FOR ANCHORS
TYPE & SPACING FOR INSTALLATIONS
INTO WOOD FRAME BUILDINGS.

E. D. = EDGE DISTANCE

/"t?/,/ /ﬂf/&'\"

%X MAXIMUM ANCHOR SPACINGS ARE VALID

FOR 3 1/2" EDGE DISTANCE.

FOR E. D. LESS THAN 3 1/2", REDUCE ANCHOR
SPACING BY MULTIPLYING SPACINGS SHOWN
ON SCHEDULE BY THE FOLLOWING FACTORS.

ACTUAL E. D. FACTOR
3" .86
2 1/2"° 71
2" .50

*XX DIRECT MOUNT CONNECTION TO WALL W/

ANCHORS AT 12" 0.C., AND 8'-3

Max. PANEL SPANS SHALL ALWAYS BE
PERFORMED W/ 3 1/2" EDGE DISTANCE (E. D.).

USE MAXIMUM ANCHORS SPACING OF 8" O.C.
FOR DIRECT MOUNT INSTALLATION WHERE
E. D. IS LESS THAN 3 1/2" WITH A MINIMUM

OF 2 1/2".

PRODUCT REVISED

8s complying with the Florida
Buiding Code
Acceptance No
Expiration Date

Miami Dade
Division

F.B.C.(H.V.H.Z.)/MIAMI~DADE COUNTY

STORM PANEL-"STORM GUARD”

/TILTECO m=. \

95 N.W. J6th. St., Ste. 217, VIRGINIA GARDENS, Fl. 3168

H&PLUT TESTING & ENGINEERING COMPANY

Phane : (305)871-1530 . Fax : (305)871—1531 -

EB—-0006719
WALTER A. TILLIT Jr, P. E.

SCALE

12/12/02

ALUMINUM WORLD, INC. DATE
T I
DESCRIPTION DATE REY, Mo DESCAPTION DATE DRAWING No
R LN 4571 B — SHEET 7 OF 7

FLORIDA Lic. 44167

a4 -




